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1. Examine the base map below. Points A, B, and C are mapped locations of drill holes in which the targetis an
oil-bearing Eocene sandstone bed. The surface elevation (ft) of the drill holes are as follows: A= 1280 AMSL,
B = 963 AMSL, C = 1147 AMSL. Drilling logs indicate the following depths to the top of the sandstone bed: A =

8065 ft, B = 6448 ft, C = 6074 ft.

FS302 Quiz3 Open Book Problem Solving {30 Pts)

A. Determine the elevation of the top of sandstone bed for each well (3 Pts): ,
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B. Determme the strike and dip of the sandstone: strike:_ A & Z«EL Dip: :3 L Nw
k2°

Show all of your trig7/math wormuctlon lines on your map. Draw the strike line and label with
Azimuth. Dray and label the Dip line, showing dip angle. (5 pts) 4 — 5495 22|00
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2. By hand, using a red pencil or marker, plot the following soil texture data of the fine-grained component on a

trianguiar diagram below:

Clay

Sand Silt

Neatly label all of your data points with sample numbers. Identify the soil class for each sample and fill in the table
below (5 Pts).

Soil Texture Data (grams of each class as a result of sieve naIys:s) és
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3. You are located at point A, at a field site. Point B is located 2.5 km directly north of your position. Point Cis
located 3.2 km directly west of Point B.

a. Draw a sketch map showing the relationships. (2 pts) =2, 2Fu —: E 0
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b. Use a trigonometric solution to determine the compass Azimuth bearing from your position point A to
point C. Show all of your math work and trigonometric relations. (5 pts)
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Using a trigonometric solution, determine the distance between point A and C in kilometers and feet
show of your math work, trigonometﬁc rel
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ations, and unit algebra. (5 pts)
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Eocene sandstone bed |n central Oregon.
Using a 20 degree frequency bin, plot a rose diagram showing data distribution on the graph below (5 Pts).
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